EPTEAEBTERNXSESCHERELNEG &
T AN EFTERERDHB 15TH 4

E# - 04-25285910 A : 04-25204331
#ak - hitp://www. tchid. net

£XH 44 B

BXBH T FERBAIZH03A 248
BXFR ' FPARTREGTH 1120324025 3%
®OA:

R

E B ARBENENBERAMEAA A IELE SH
MR —BABRZRAT  EHHETEASBMC
o FoRGERX BFELER

W OB — o RIEE P W EUN 112.3. 15 RS
1120068358 % 332 -

ZoREM A ESF 112.3. 14 R4 5 % 1120803502
W BATA -

ER: A€ 8



1% Ik
B4R
AECE &
Hoht 105404gﬂt7ﬁ‘* ML B AR £ 342
w(EEE)

WBEA D FRIE

e E#E - (02)87712345#2693
T F# 4 © gogolepani. gov. tw
&R ¢ (02)87712709

TXH BV THR
Fx A FPERBII2F3A148
BX TR RREREFH11208035025%
# AR ‘
FEERBERGERFAEHR
Fit 4
5 REAMEBMIIRETH RGP UK —RERZIHALE
EMHREC2AMIE  RFER -
R |
— B ANEE R ERTRERGEH 1242 A130 R
F %1120213015% & 22 - .
=~ REHMRAEE ’“’ﬁ@ﬂﬁﬁﬁmw%r%*l RRE R &
AR T (a)WE%%£%*$%uL%k%
AR AAR > R RIS o AR R —
A o weeees () BHEBEHIBRME o - 0 X TR
2 it AR S HATI R e T4 B 0TI B 1B 43
HRE > THBHRIHEE - ERIGRREZE
% BATR—GHR,  BENR2HAEENE®
R ARG HEZ L FIIE > RRAFEEHBHIBE AT
PREZEGHREROARBHHEEMR » EXEAR
GHESSHMARTZ Thhk (2) () (+) (+
—) FiPEAEEE W 0 ER AR E RS E ﬁcl 2 R

ERETRR  r3r:112/03/14

P \\IIIIWII\H!lll!I\IIIIHIIHIIHII!lflllﬂl\l\llHl\}ll!\




LTI iEdm ~ &2 R RICR B EI9EE E S5 R
SIRE g o | REBEBNEIQAVEBERE T
095292001235 F B E » T4 o
5~é¢%%mwﬁﬁ P REITIE B 1B IR A HE & R4
MR L P DM RBEE 2 R ] ﬁ&%z%@#
FHREAERE > BEZ MGG A BB RS B8R
M#ITRE A EiE R » 4 ~%Xﬂﬁw%ﬂﬁ-1%’
HE A B MR SR 552 e Hh R ACAR B UE 2 B SR
f AAHIR— @A 2 G5 0 B84 R @M EEM (B
P& RS AT R — & D 0 ko BRI B — JEM 0 BM IR
JE i Atk — B2 M B é%%%ﬁﬂla%ﬁ L ik
BEREZENENZEBEHR (B 78 KRAME) »»
PR 2 @A R R H AR — B2 AKIERE N 0 B
FM G EERIRY R YIEFLHATRERE 54 A6
WA — AT o
EAR Wﬁ ARG ERAT - ZHET RS GT)BUF %ﬁjﬁﬂ%i%$ﬁﬁitaﬁ
CEESHRTHOETER  RAYSEALE  FUREEEBGAREE
i%:}iﬂﬁ@@%{%/ﬁ CBEMNZRABMEBEEMAALEARE L BEHNER
REEARPHALACERS  AFRHLAMKE R HTHALARELS -
. ETERARFEA - SLARADFEL  BALATAEFRA - KEME
5 O RARSER  ZHEARLNESEL AFIRZARSEL  SERARARSE
: ¢ GITEENRTER *%R@Kﬂé%%ﬁ%ﬂ?ﬁﬁél% TP E
REZALEGAE  TERAT R EBTERALAG2AHL

a$:ﬁméﬁﬁiéﬁﬁw&i\%E%Aé%£%¢@~$%%%%(%mi(%
HERFAE) AME - RERE) Eugl T
| i e

i

.

e
=

$2A A2 HE



